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1. Napiš zkratkou :

1 kilogram   ………………………..
3 metry  ……………………………..
5 litrů …………………………………

2. Vypočítej :

7 + 2 =				9 – 5 =
5 + 5 =				4 – 3 =
2 + 6 =				10 – 9 =
8 + 2 =				7 – 4 =
4 + 6 =				8 – 6 =






3. Maminka upekla 20 koláčů. Děti 5 koláčů snědly. Kolik koláčů zbylo?
Znázorni: ……………………………………………………………………………………………….

Vypočítej:
……………………………………………………………………………………………….

Napiš odpověď:
……………………………………………………………………………………………….



4. Vypočítej :
14 + 3 =					15 – 3 =
10 + 8 =					19 – 4 =
17 + 2 =					20 – 2 =
15 + 5 =					20 – 7 =
8 + 11 =					16 – 5 =


